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Part A

Section Id : 686340813
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
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Question Id : 68634041322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634041323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163201. 1
686340163202. 2
686340163203. 3
686340163204. 4
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Question Number : 2 Question Id : 68634041324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FFRTTE: @ HP T AT EId Ed e A g SIS PRU RGEIH &

SFUFUT A : ORI 71 Ul Ug-Ug & 3L 8l ™l

HRUIR : TG B HLGH &3 J Dl W 97 [dgH 8l - GhdT | adidad [dgal d 997e H IRER U W HEdR
D UG 9 AT B

SWRId HY & el H, 7 T 7T [geedl § ¥ Had Jugad Iok @I 90 Hifl:
1. A 3R R I FE § SR R. A D gl AR ©

A SRR HI 981 € SR R A D! Gl IR 6l &

A T8 TR TSR

A TEI el gl R Tel §

Options :

| ]

LF% ]

e



686340163205. 1
686340163206. 2
686340163207. 3
686340163208. 4

Question Number : 3 Question Id : 68634041325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163209. 1
686340163210. 2
686340163211. 3
686340163212. 4

Question Number : 4 Question Id : 68634041326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163213. 1
686340163214. 2
686340163215. 3
686340163216. 4

Question Number : 5 Question Id : 68634041327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163217. 1
686340163218. 2
686340163219. 3
686340163220. 4



Question Id : 68634041322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634041323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. geriiary, Hidderd
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3. PaReH, Jfderd
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Options :

686340163201. 1
686340163202. 2
686340163203. 3
686340163204. 4

Question Number : 2 Question Id : 68634041324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340163205 1

686340163206. 2

686340163207. 3
686340163208. 4

Question Number : 3 Question Id : 68634041325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163209. 1
686340163210. 2
686340163211. 3
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Question Number : 4 Question Id : 68634041326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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686340163215. 3
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Question Number : 5 Question Id : 68634041327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163217. 1
686340163218. 2
686340163219. 3
686340163220. 4

Sub-Section Number : 2



Sub-Section Id : 6863401359
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634041328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163221. 1
686340163222. 2
686340163223. 3
686340163224. 4

Question Number : 6 Question Id : 68634041328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163221. 1

686340163222. 2

686340163223. 3
686340163224. 4

Question Number : 7 Question Id : 68634041329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340163225. 1
686340163226. 2
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Question Number : 7 Question Id : 68634041329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634041330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeied § 3 giei Tss B F g2
1. TRH(

Options :



686340163229. 1
686340163230. 2
686340163231. 3
686340163232. 4

Question Number : 8 Question Id : 68634041330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163229. 1
686340163230. 2
686340163231. 3
686340163232. 4

Question Number : 9 Question Id : 68634041331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163233. 1
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Question Number : 9 Question Id : 68634041331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634041332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163237. 1
686340163238. 2
686340163239. 3
686340163240. 4

Question Number : 10 Question Id : 68634041332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340163237. 1
686340163238. 2
686340163239. 3
686340163240. 4

Question Number : 11 Question Id : 68634041333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163241. 1
686340163242. 2
686340163243. 3
686340163244. 4

Question Number : 11 Question Id : 68634041333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 12 Question Id : 68634041334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163245. 1
686340163246. 2
686340163247. 3
686340163248. 4

Question Number : 12 Question Id : 68634041334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 13 Question Id : 68634041335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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686340163250. 2
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Question Number : 13 Question Id : 68634041335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 14 Question Id : 68634041336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340163254. 2
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Question Number : 14 Question Id : 68634041336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634041337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634041337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634041338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634041338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 17 Question Id : 68634041339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163265. 1
686340163266. 2
686340163267. 3
686340163268. 4

Question Number : 17 Question Id : 68634041339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 18 Question Id : 68634041340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340163269. 1
686340163270. 2
686340163271. 3
686340163272. 4

Question Number : 18 Question Id : 68634041340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 19 Question Id : 68634041341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634041341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634041342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634041342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3MTOPT T 6 FdaR 1983 B 53T YT 51 U AR YT, A1 1984 T TS SHIa TS & 9 &
qaT?

1. FHAR

[ )

. §YAR
-

4. YFPAR

Options :

686340163277. 1
686340163278. 2
686340163279. 3
686340163280. 4

Question Number : 21 Question Id : 68634041343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl & 39 ¢l & uRe: ukymor ©1 3rafe & gar Seafig 3afd are Iuie &l GIRTIG ]

1. {dld SuTE
W 3udg
Y- QP IUUE
4. YT (INSAT)

Options :

686340163281. 1
686340163282. 2
686340163283. 3
686340163284. 4

[ ]

Lad

Question Number : 21 Question Id : 68634041343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt % o0 4 & IR ARy B 3afd F g waffy e are SuE @6 Fel gl
1. Ydi 3udg

2. fcies IuTE

3. Y- s I

4. 3UC (INSAT)
Options :

686340163281. 1
686340163282. 2
686340163283. 3
686340163284. 4

Question Number : 22 Question Id : 68634041344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 1 g 11 ¥ [aH Sifey
LIST I LISTII
TEgHIaT ST T
A, [Ec@! 1 ERids
B. [Esa®! 11 [@iREl
C. [4reia TegHEiTgE St 111 [PRIGE
D. Hie! v fq@e
ool faedd d U U8t 3w &1 90 S -

1. A-III, B-1. C-IV. D-II
2. A-IL B-IV, C-L. D-I1I
3. A-TIL B-IV. C-I. D-1I
4. A-II. B-1. C-IV. D-III

Options :

686340163285. 1
686340163286. 2
686340163287. 3
686340163288. 4

Question Number : 22 Question Id : 68634041344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

LIST I LISTII
TR a" $U=T T

A [ETc® I BRSPS

B. B! 11 [®Ral

C. [HRdE Tegdi=gE St 111 [@RIYE

D. e V. Rq@e

FEfeRad fasedi 4 98 IR &1 99 DI -

1. A-IIIL, B-1. C-IV. D-II

| )

CA-TL B-IV. C-1, D-II1
3. AL BIV,. C-1. D-II
4. A-II. B-1. C-IV. D111

Options :

686340163285. 1
686340163286. 2
686340163287. 3
686340163288. 4

Question Number : 23 Question Id : 68634041345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DR (31218) IS D U Yo Dl die U A+ 3R 370 GIR T DI icH o o (oY g Tdbdl gl
g5 YAl " ¥4 8§ 51 oIl 5

1. RIPER
.8 gfega

US-d18
4. g IR gHYT

Options :

686340163289. 1
686340163290. 2
686340163291. 3
686340163292. 4

| )

%]

Question Number : 23 Question Id : 68634041345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PR (3e08) TG & UF U & dia U AP 3R 30 8L Taw Bl 9 o & [T g adl
gg e &9 30 8 S 9l 2

1. RIPER
.98 aRkadq
B8

4. ged U JHYU]

[

L¥%]

Options :

686340163289. 1
686340163290. 2
686340163291. 3
686340163292. 4

Question Number : 24 Question Id : 68634041346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 =t 11 ¥ e S

I 11
A o TS L [irore g TR
B. RH$WI {3 I1. [T4. TH Sl
C. [gde ofiw g0 gasel 111 [earHe g3 d]
D. [gr=re gfa™ T 1v. [l [qadrs
foferiad faeedl o T 9gl 3ok &l 999 Hifolt :

1. A-IIL, B-IV, C-I1. D-1

[ ]

AL B-IV. C-1, D-1
3.A-IV. B-IIL C-1, D-II
4. A-II, B-IV, C-1, D-111

Options :

686340163293. 1
686340163294. 2
686340163295. 3
686340163296. 4

Question Number : 24 Question Id : 68634041346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

I 1
UTﬁ£§§:HqﬂFT q;ggzqiﬁ
A | gare L [fTiaTel gwn Ta
B. RGP 4 11 [g_ge S
C [gde A% 350 Gigrsel 111 [caric 93!
D. [grere gidg & Iv. [ [qa@rs
fFafaiRad f[deedi § U Ug] 3R &1 99 Difold -

1. A-TI1, B-IV, C-11, D-1

| ]

AL B-IV, C-1 D-T1
3. A-IV.B-II C-1. D-II
4. A-IL B-IV, C-L. D-I1I

Options :

686340163293. 1
686340163294. 2
686340163295. 3
686340163296. 4

Question Number : 25 Question Id : 68634041347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YehY a1 Sl BT bx foh e ¥U H &I Sl §
1. Yhq o
2. 7 (PI)

& 5
4. Hftp=

Options :

686340163297. 1
686340163298. 2
686340163299. 3
686340163300. 4

Question Number : 25 Question Id : 68634041347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y& a1 S BT F% 859 9 H oH1 Sl §
1. Yhq oA
2. TF (PIH)

4 :
4. 3Hfeh=5

Options :

686340163297. 1
686340163298. 2
686340163299. 3
686340163300. 4

Part B: Dairy Technology

Section Id : 686340814
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401360
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634041348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lactic acid content in fresh milk is.

1. 0.40%

[
=
[
L
]
o

4.0.20%

Options :

686340163301. 1
686340163302. 2
686340163303. 3
686340163304. 4



Question Number : 26 Question Id : 68634041348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el g H dided 3Ad &l 0l fdaHl sidl 82

1. 0.40%

b
=
| ]
L
=]
o

4. 0.20%

Options :

686340163301. 1
686340163302. 2
686340163303. 3
686340163304. 4

Question Number : 27 Question Id : 68634041349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s used to remove milk stone.

1. Alechol

[

. Alleali
3. Acetone
4. Acid

Options :

686340163305. 1
686340163306. 2
686340163307. 3
686340163308. 4

Question Number : 27 Question Id : 68634041349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



D1 YA Y & TeR ¢ H [l S g |

1. Uehlgd
AR
. THieH

4. H&T

[ )

L¥%]

Options :

686340163305. 1
686340163306. 2
686340163307. 3
686340163308. 4

Question Number : 28 Question Id : 68634041350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Average pH of normal milk is.

1.706.6

b

=5.0

4.>17.6

Options :

686340163309. 1
686340163310. 2
686340163311.3
686340163312. 4

Question Number : 28 Question Id : 68634041350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A U BT 3gd pH FE R -

1.>6.6

|

.=5.0

3.>27.0

4.> 7

=1
o

Options :
686340163309. 1



686340163310. 2
686340163311. 3
686340163312. 4

Question Number : 29 Question Id : 68634041351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Approximately cow milk contains of total solid percentage.

1.25

bJ
=
e

4. 13

Options :

686340163313. 1
686340163314. 2
686340163315. 3
686340163316. 4

Question Number : 29 Question Id : 68634041351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 &1 g4 319 &Y I ol 319 Uiawrd EGIG]

1. 25

| ]

0.5

Lid
-]

4,13

Options :

686340163313. 1
686340163314. 2
686340163315. 3
686340163316. 4

Question Number : 30 Question Id : 68634041352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



kg dry matter per day needed by a buffalo of 500 kg body weight.

ko
| ]
=

4. 15

Options :

686340163317. 1
686340163318. 2
686340163319. 3
686340163320. 4

Question Number : 30 Question Id : 68634041352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

500 fpm YR @t U9 1 GrEFgd e @ YR uid fa smavas g

1323

| ]
[ )
=

4. 15

Options :

686340163317. 1
686340163318. 2
686340163319. 3
686340163320. 4

Question Number : 31 Question Id : 68634041353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Vitamin B12 is also called as

1. Riboflavin

[

. Cynocobalamine
3. Cobalamine
4, Thiamin
Options :

686340163321. 1
686340163322. 2



686340163323. 3
686340163324. 4

Question Number : 31 Question Id : 68634041353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feefim B2 ®1 g W o 8 -
1. AgEA G

R U EICAGI G e

. BIFICTUHTGT
4. YTgHA

Options :

686340163321. 1
686340163322. 2
686340163323. 3
686340163324. 4

[

L]

Question Number : 32 Question Id : 68634041354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Milk 1s deficient in.
1. Vitamin A
2. Vitamin D
3. Vitamin C
4, Vitamin B
Options :
686340163325. 1
686340163326. 2

686340163327. 3
686340163328. 4

Question Number : 32 Question Id : 68634041354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U FE T YT ST 8 -
1. faerie= A

feaf=p

fgerfi= ¢

4. faerif B

Options :

686340163325. 1
686340163326. 2
686340163327. 3
686340163328. 4

[ )

L¥%]

Question Number : 33 Question Id : 68634041355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The minimum S.N.F% buffallo milk fixed by the Government should.

1.8.6

{ ]
oo

3.9.0
4,985

Options :

686340163329. 1
686340163330. 2
686340163331. 3
686340163332. 4

Question Number : 33 Question Id : 68634041355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHR N1 49 F 5o & forg Fuffa g7am s Nrs gl

1.8.6

b
oo

3.9.0
4.9.5

Options :
686340163329. 1



686340163330. 2
686340163331. 3
686340163332. 4

Question Number : 34 Question Id : 68634041356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

towards 1s used to calculate total solid percentage in milk.

L.

™5

LR+12F+1.4

4

i,

™

LR+ 12F+0.14

e

4. CLR+22F+1.04

Options :

686340163333. 1
686340163334.2
686340163335. 3
686340163336. 4

Question Number : 34 Question Id : 68634041356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A GRI G & TU1 319 % B UM &1 offe o

1

[
d

LR+ 1.2F +1.4

[
P!
=
:
e

2F+04

LIS
®
=
b
|
i

2F +2.24

-r_L ‘

4. CLR+22F+1.04

Options :

686340163333. 1
686340163334. 2
686340163335. 3
686340163336. 4

Question Number : 35 Question Id : 68634041357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the normal body temperature of buffalo in summer.

1.85° F

| S]

.102° F
3.107°F
4.90°F

Options :

686340163337. 1
686340163338. 2
686340163339. 3
686340163340. 4

Question Number : 35 Question Id : 68634041357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ueg g 4 U9 & YRR &I AHI d9EH 1 8iaT 32

1.85°F

=
—_
(=]
(]

s}
|

4,90°F

Options :

686340163337. 1
686340163338. 2
686340163339. 3
686340163340. 4

Question Number : 36 Question Id : 68634041358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A good quality of dahi should have acidity less than

1. 0.5%

[

. 2.0%
3.1.5%
4. 0.8%

Options :

686340163341. 1
686340163342. 2



686340163343. 3
686340163344. 4

Question Number : 36 Question Id : 68634041358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Udh 331 Ura] dTell gl &1 sitad 9 4 &H giHl Figul

1.0.5%

4.0.8%

Options :

686340163341. 1
686340163342. 2
686340163343. 3
686340163344. 4

Question Number : 37 Question Id : 68634041359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Butter value of milk 1s due to.
1. Calcium
2. Protein
3. Fat
4. Carbohydrate
Options :
686340163345. 1
686340163346. 2

686340163347. 3
686340163348. 4

Question Number : 37 Question Id : 68634041359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U B TP 3 9 F SRUTEIA & -
1. SieRraH
UEH

3.d4l

4. FERESe

Options :

686340163345. 1
686340163346. 2
686340163347. 3
686340163348. 4

[ )

Question Number : 38 Question Id : 68634041360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Average heart beat per minute of cow is.

1555

[

.90

L%
-1
L

4. 70

Options :

686340163349. 1
686340163350. 2
686340163351. 3
686340163352. 4

Question Number : 38 Question Id : 68634041360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &1 gel @1 3iiad Wed ar ufd fime A e -

1.55

.l

|

.90

375

4. 70

Options :
686340163349. 1



686340163350. 2
686340163351. 3
686340163352. 4

Question Number : 39 Question Id : 68634041361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
vitamins are fat soluble.
1.Aand D
2.A.D.and C

JADEandK

4 BandC

Options :

686340163353. 1
686340163354. 2
686340163355. 3
686340163356. 4

Question Number : 39 Question Id : 68634041361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fqeriiE g & yasid g |
1.A3RD
LA.D3RC

_A.D.E3IRK

4.B3RC

Options :

686340163353. 1
686340163354. 2
686340163355. 3
686340163356. 4

| )

%]

Question Number : 40 Question Id : 68634041362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



harmone is responsible for milk secretion.

1. Prolactin

[

. PTH
3. TSH
4. Oxytocmn

Options :

686340163357. 1
686340163358. 2
686340163359. 3
686340163360. 4

Question Number : 40 Question Id : 68634041362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&Y & WA g gTH STRar 8

1. Wcifee
2. PTH
3. TSH
1. A

Options :

686340163357. 1

686340163358. 2

686340163359. 3
686340163360. 4

Question Number : 41 Question Id : 68634041363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which at the following 18 NOT carbohydrate adulterant used in milk products.

1. Cane sugar

| S

. Glucose
3. Starch
4. Potassium sulphate

Options :
686340163361. 1



686340163362. 2
686340163363. 3
686340163364. 4

Question Number : 41 Question Id : 68634041363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 1 WA g8 TUT GY & 361 1 BIEIEIESC AT & &0 H To! [al olldl § -
1. T3 @1 AT

R AL
'™

4. qIefRaH gehe

Options :

686340163361. 1
686340163362. 2
686340163363. 3
686340163364. 4

[ )
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Question Number : 42 Question Id : 68634041364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

To increase the shelf life milk Adulterant 1s used.

1. Starch

| S

. Hydrogen Peroxide
3. Water
4. Urea

Options :

686340163365. 1
686340163366. 2
686340163367. 3
686340163368. 4

Question Number : 42 Question Id : 68634041364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P UH MY agH & Rl | Ui &1 WaiT foean S ¢
1. €™

BOSIo WRIHES

3.9

s ok

Options :

686340163365. 1
686340163366. 2
686340163367. 3
686340163368. 4

[ )

Question Number : 43 Question Id : 68634041365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
remains most resistant on heat treatment of milk.

1. Vitamin C

2. Vitamin E

3. Vitamin K

4, Vitamin A
Options :
686340163369. 1
686340163370. 2

686340163371. 3
686340163372. 4

Question Number : 43 Question Id : 68634041365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ao e gy &1 aRA W waliie wiadid warg |
1. faerfi= ¢
2. faerfi e
3. faefak
4. faerfim a

Options :



686340163369. 1
686340163370. 2
686340163371. 3
686340163372. 4

Question Number : 44 Question Id : 68634041366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In butter the ester like flavors are resulted due to the action of.

1. P. fragi
2. P mephitica
3. Pseudomonas synxantha
4. Acromonas hydrophila

Options :

686340163373. 1

686340163374. 2

686340163375. 3
686340163376. 4

Question Number : 44 Question Id : 68634041366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 X 99 Wie Fg $ uve § Sl g -
1. o Bt

.41 Al

. GSIITY (0T

. UPILIIY GIaS e

[ )

L¥%]

=Y

Options :

686340163373. 1
686340163374. 2
686340163375. 3
686340163376. 4

Question Number : 45 Question Id : 68634041367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Dagnala disease in animals is caused due to deficiency.

1. Silicon
2. Calcium
3. Magnesium
4, Selenium

Options :

686340163377. 1

686340163378. 2

686340163379. 3
686340163380. 4

Question Number : 45 Question Id : 68634041367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WO S ST H UG Y|

1. Ffere

 hferrgH

iR
4. gatgH

Options :

686340163377. 1

686340163378. 2

686340163379. 3
686340163380. 4

[ ]

Lad

Question Number : 46 Question Id : 68634041368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s enzyme coagulated milk product.

1. Dahi

[

. Cheese
3. Paneer
4. Chhaina

Options :

686340163381. 1
686340163382. 2



686340163383. 3
686340163384. 4

Question Number : 46 Question Id : 68634041368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U-allgH Whe-111 g8 3dIg g

| )

¥ 4 9 4

4.

Options :

686340163381. 1
686340163382. 2
686340163383. 3
686340163384. 4

Question Number : 47 Question Id : 68634041369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
National Dairy Research Institute is located at ?
1. New Delhi
2. Jhansi
3. Karnal
4. Varanasi

Options :

686340163385. 1
686340163386. 2
686340163387. 3
686340163388. 4

Question Number : 47 Question Id : 68634041369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340163385. 1
686340163386. 2

686340163387. 3
686340163388. 4

ja—y

[ )

Question Number : 48 Question Id : 68634041370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Yellow colour of cow milk is due to presence of

1. Anthocyanin

2

. Carotene
3. Vitamin C
4. Vitamin B
Options :
686340163389. 1
686340163390. 2

686340163391. 3
686340163392. 4

Question Number : 48 Question Id : 68634041370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & gy 1 Uleg- 8 & SR © -
1. BT
@it
faefiAc
4. faerim B

Options :
686340163389. 1

[ )

L¥%]



686340163390. 2
686340163391. 3
686340163392. 4

Question Number : 49 Question Id : 68634041371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
18 used to prepare Bullgorian butter milk.

1. Streptococcus lactis

2. Streprococcus thermophilus

3. 5. cremonis

4. Lactobacillus bulgaricus
Options :
686340163393. 1
686340163394.2

686340163395. 3
686340163396. 4

Question Number : 49 Question Id : 68634041371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 YA @G- gex fHe® g9 ¥ &1 o1 g
1. EUCIFHipy didey
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. Ug piHIcT
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Options :

686340163393. 1
686340163394. 2
686340163395. 3
686340163396. 4

Question Number : 50 Question Id : 68634041372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to BIS standards the titrable acidity for Dahi or yoghurt 15 Ya

1.1

[

DS

T
-]

4. 0.05

Options :

686340163397. 1
686340163398. 2
686340163399. 3
686340163400. 4

Question Number : 50 Question Id : 68634041372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&gl U1 URTE B BIS & OS] & 3UR clgcc anyg iyl % Bl g
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|

0.5

Lid
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4, 0.05

Options :

686340163397. 1
686340163398. 2
686340163399. 3
686340163400. 4

Question Number : 51 Question Id : 68634041373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s responsible under certain conditions for the detect known as 'Sandiness’ in the ice cream and
sweetened condensed milk.

—

. Milk proteins

[ B

. Water
3. Fat
4, Lactose

Options :
686340163401. 1



686340163402. 2
686340163403. 3
686340163404. 4

Question Number : 51 Question Id : 68634041373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS HH | YT FuHd 4S8 g8 e 7@ &Y & it Suadi g
1. Y AIEH

g

3. 94

4. dacl
Options :
686340163401. 1
686340163402. 2

686340163403. 3
686340163404. 4

[ )

Question Number : 52 Question Id : 68634041374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Doing the conversion of milk into curd constituent of milk get mainly changed.

1. Carbohydrate

[

. Protein
3. Fat
4. Vitamins

Options :

686340163405. 1
686340163406. 2
686340163407. 3
686340163408. 4

Question Number : 52 Question Id : 68634041374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163405. 1
686340163406. 2
686340163407 3
686340163408. 4

[ )

Question Number : 53 Question Id : 68634041375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Milk 1s an emulsion of 7

1. Minerals

[ ]

. Fat in water

3. SNF in water

4, Fat Soluble vitamins
Options :
686340163409. 1
686340163410. 2

686340163411. 3
686340163412. 4

Question Number : 53 Question Id : 68634041375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T -
1. @
2. T H a1
3. g H SNF

4. o1 Yereite faerfiq

Options :



6863401634009. 1
686340163410. 2
686340163411. 3
686340163412. 4

Question Number : 54 Question Id : 68634041376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
constituents affects freezing point of milk.
1. Protein
2. Lactose
3. Water

4. Fat

Options :

686340163413. 1
686340163414. 2
686340163415. 3
686340163416. 4

Question Number : 54 Question Id : 68634041376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e gY P 1A a5 1 UHIfdd Hed &
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Options :

686340163413. 1
686340163414.2
686340163415. 3
686340163416. 4

Question Number : 55 Question Id : 68634041377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The optimum temperature required for growth and multiplication of Psychrophilic bacteria

1.3-20°C

| ]

25-3

o

h

3.41-45° C
4.50-70° C

Options :

686340163417. 1
686340163418. 2
686340163419. 3
686340163420. 4

Question Number : 55 Question Id : 68634041377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.3-20°C
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4. 50-70° C

Options :

686340163417. 1
686340163418. 2
686340163419. 3
686340163420. 4

Question Number : 56 Question Id : 68634041378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Best method of milking is ?

1. Full hand milking

b2

. Stripping
3. Knockling
4, Suckling
Options :

686340163421. 1
686340163422. 2



686340163423. 3
686340163424. 4

Question Number : 56 Question Id : 68634041378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ge T Jdguga faf 2 -
 qof %7 9 g&l
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ST I gg
He 9 g

Options :

686340163421. 1
686340163422. 2
686340163423. 3
686340163424. 4
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Question Number : 57 Question Id : 68634041379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maximum fat percentage is found 1 milk of.

1. Jafarabadi

[

. Nili
3. Bhodawani
4. Nagpuri

Options :

686340163425. 1
686340163426. 2
686340163427. 3
686340163428. 4

Question Number : 57 Question Id : 68634041379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340163425. 1
686340163426. 2

686340163427. 3
686340163428. 4
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Question Number : 58 Question Id : 68634041380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

temperature is satisfactory for cream separation.

b
L
L

4.45

Options :

686340163429. 1
686340163430. 2
686340163431. 3
686340163432. 4

Question Number : 58 Question Id : 68634041380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PIH YUaDHRul & 9d 39T dIuHE g |

1.30

[
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3.38
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Options :
686340163429. 1



686340163430. 2
686340163431. 3
686340163432. 4

Question Number : 59 Question Id : 68634041381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1s responsible for colour of fat in milk.
1. Sugar
2. Lactose
3. Cavotene
4. Water
Options :
686340163433. 1
686340163434. 2

686340163435. 3
686340163436. 4

Question Number : 59 Question Id : 68634041381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T S W d g el gidl g
1. QIR

o
4. g1

Options :

686340163433. 1
686340163434. 2
686340163435. 3
686340163436. 4

%]

Question Number : 60 Question Id : 68634041382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The losses of ascorbic acid thiomine increase to and percent respectively in
sterilization.

1. 50% and 30%

[ B

. 50% and 30-350%
3. 30% and 50%
4. 40% and 20%

Options :

686340163437. 1
686340163438. 2
686340163439. 3
686340163440. 4

Question Number : 60 Question Id : 68634041382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e uftrar & timifd® 3 gyt 9rgHi= &1 &g gHt 3R ufed d@
A ¢ offdl ¢l

1. 50% dUl 30%

[ )

. 50% dYUT 30-50%
3. 30% Ul 50%
4. 40% dUl 20%

Options :

686340163437. 1
686340163438. 2
686340163439. 3
686340163440. 4

Question Number : 61 Question Id : 68634041383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Usually the gas mixtures used in MAP (Modified Atmosphere Packaging) does not involve gas.

1. CO,

L
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o
2



Options :

686340163441. 1
686340163442. 2
686340163443. 3
686340163444. 4

Question Number : 61 Question Id : 68634041383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. CO,
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4. 0,

Options :

686340163441. 1
686340163442. 2
686340163443. 3
686340163444. 4

Question Number : 62 Question Id : 68634041384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The property not shown by packaging material is.

1. It should not react with the products stored
2. It should be easy to open distritution. reseal and store
3. It should protect food from water vapour, gases and volatiles
4. It should be made up of toxic material

Options :

686340163445. 1

686340163446. 2

686340163447. 3
686340163448. 4

Question Number : 62 Question Id : 68634041384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163445. 1
686340163446. 2
686340163447. 3
686340163448. 4

Question Number : 63 Question Id : 68634041385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The problem associated with earthen pots to store Dahi is:

1. Eco-friendly

| S

. Easily degradable after disposal
3. Dahi packed in earthen pots has a firm body
4. Heavy and breakable

Options :

686340163449. 1

686340163450. 2

686340163451. 3
686340163452. 4

Question Number : 63 Question Id : 68634041385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340163449. 1
686340163450. 2
686340163451. 3
686340163452. 4

Question Number : 64 Question Id : 68634041386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Microbiological hazards in milk include.
1. Bacteria and viruses only
2. bacteria and fungi only
3. Bacteria, viruses. fungi and algae
4. Fungi and algae only
Options :
686340163453. 1
686340163454. 2

686340163455. 3
686340163456. 4

Question Number : 64 Question Id : 68634041386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163453. 1
686340163454. 2
686340163455. 3
686340163456. 4

Question Number : 65 Question Id : 68634041387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prime component of milk 1s.

1. Water

| ]

. Cream
3. Minerals
4. Curd

Options :

686340163457. 1
686340163458. 2
686340163459. 3
686340163460. 4

Question Number : 65 Question Id : 68634041387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 9

B

RCIEr

4.0l

Options :

686340163457. 1
686340163458. 2
686340163459. 3
686340163460. 4
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Question Number : 66 Question Id : 68634041388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The birth place of Rathi breed of cow is.
1. Ajmer
2. Amritsar
3. Jaipur
4. Alwar

Options :
686340163461. 1



686340163462. 2
686340163463. 3
686340163464. 4

Question Number : 66 Question Id : 68634041388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163461. 1
686340163462. 2
686340163463. 3
686340163464. 4

Question Number : 67 Question Id : 68634041389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following minerals is used in low quality in the milk?

1. Fe

| S

P
3.Ca

4. Mg
Options :
686340163465. 1
686340163466. 2
686340163467. 3
686340163468. 4

Question Number : 67 Question Id : 68634041389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Fe
2.P
3.Ca
4. Mg

Options :

686340163465. 1

686340163466. 2

686340163467. 3
686340163468. 4

Question Number : 68 Question Id : 68634041390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Vitamin B, is also called as cyanocobalamin which is present in milk
Reason R: Vitamin B, contains cobalt as one of the components

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. A s true but R 1s false

4. A 1s true but R 15 true

Options :

686340163469. 1
686340163470. 2
686340163471. 3
686340163472. 4

Question Number : 68 Question Id : 68634041390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340163469. 1
686340163470. 2
686340163471. 3
686340163472. 4

Question Number : 69 Question Id : 68634041391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Pasteurization is applied to destroy sensitive spoilage and pathogenic bacteria Present raw milk

Reason R: Pasteurization is not sufficient to inactivate bacterial spores and heat resistant bacteria

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

686340163473. 1
686340163474. 2
686340163475. 3
686340163476. 4

Question Number : 69 Question Id : 68634041391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340163473. 1
686340163474. 2
686340163475. 3
686340163476. 4

Question Number : 70 Question Id : 68634041392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Pasteurization reduces the number of spoilage organisms such as psychrotrophs
Reason R: Pasteurization designed for the destruction of pathogenic bacteria

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R is correct

Options :

686340163477. 1
686340163478. 2
686340163479. 3
686340163480. 4



Question Number : 70 Question Id : 68634041392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 gl 2 [ T §, Us Siiiieys & =4 1 [dRad ¢ dl g8R1 39 BRU & =4 1,
AFUBY: TRRIFR fGa® Sital oY ThIeIoy B T HF Hdl ¢
BHROT: TRARIHRUI D] (D INHRS Sia1Y] Sl AP P o 1601 T &
IIRIad HYT & eils 3, e AU e faedl & T Hel Ik &1 907 Difu;
1. A IR R HI 9T §. IR R. A DI T5I SAAT &
2. A SRR GHI A 8. SRR, A DI Fg! oURAT ol &

3. AT e AfFR 3T

4 ASNTT L. fPTRIAE

Options :

686340163477. 1
686340163478. 2
686340163479. 3
686340163480. 4

Question Number : 71 Question Id : 68634041393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Buffalo milk is better suited for fat rich dairy products than cow milk

Reason R: Buffalo milk has higher fat content. higher yield and better texture

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R NOT the correct explanation of A
3. A is correct but R is not correct
4. A 1s not correct but R 1s correct
Options :

686340163481. 1
686340163482. 2



686340163483. 3
686340163484. 4

Question Number : 71 Question Id : 68634041393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fE S Py R E w fimys & Eu E ffEa 8 O RSP IR S U,
SHTYSYT: 591 YR 83 Il & 09 P14 T & g8 I &I 98l o

SR TG S 3§ 3ifd adl, 3= dies a4l ad Jdfd gidl ¢

SR HYF P el H, 1 AU M fapeal & ¥ Hel IR o1 9497 DI
1. A SRR G G 5. IR R. A P! el A &

A SRR I IAE. SRR A DI F5l SR 7181 ©

[ o)

ATTE. AR 3T

Lo%]

AT, AfPTRIAE

e

Options :

686340163481. 1
686340163482. 2
686340163483. 3
686340163484. 4

Question Number : 72 Question Id : 68634041394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s /are prepared by fermention process?

A. Mist Dahi

B. Shirkhand wadi
C. Basundi

D. Rabri

E. Chakka

Choose the correct answer from the options given below:

1. A. B and C only

2

.A.B and E only
3. Aand E only
4. B and D only
Options :
686340163485. 1
686340163486. 2

686340163487. 3
686340163488. 4

Question Number : 72 Question Id : 68634041394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & & o fevar fear A sand &2

A e et
B. 41kgUs ga1

C. Tgdl
D. W&ol
E. 99P]
i< fAu U fasedl O O 9ad SUgad GOk &1 99 PIIT:
1. Pad A, B 3R C
2. FATA. BIARE
3. Had A ARE

4. HIAB 3R D

Options :
686340163485. 1




686340163486. 2
686340163487. 3
686340163488. 4

Question Number : 73 Question Id : 68634041395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following surface affect the surface tension of milk?

A. Casein

B. Fat

C. Acidity

D. Ageing

E. Temperature

Choose the correct answer from the options given below:

1. A.B. C only

| B

.B. C.D and E only
3. Cand D only

4. A . B.C.Dand E only

Options :

686340163489. 1
686340163490. 2
686340163491. 3
686340163492. 4

Question Number : 73 Question Id : 68634041395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 7 T gy & Fag 919 TR YHE T a2

A FHUH
B. 94l
C. 3Y H 3wl
D. U1
E. dI9qH
i fAU U fas el © O 9ad SUgad GOl &1 99 PIIU:
1. BAAA. B AR C
2. $ddAB. C.D 3R E
3. %ad C IRD

4. PdA A B.C.D3RE

Options :

686340163489. 1
686340163490. 2
686340163491. 3
686340163492. 4

Question Number : 74 Question Id : 68634041396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s / are alkali cleaners type of dairy detergents?

. Tartaric acid

. Caustic soda

. Teepol

. Trisodium phosphate
. Sodium bi-carbonate

el oW vv i

Choose the correct answer from the options given below:

1. A and B only

| B

.B.D and E only
3.B.C.Dand E only
4. B and D only

Options :

686340163493. 1
686340163494. 2
686340163495. 3
686340163496. 4



Question Number : 74 Question Id : 68634041396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G & &R ThTs ddl [$exaiel &l 909 B2

A, TTCR@ 3

B. BIED I8

c. feura

D. ¢lsdIfsdd Wb

E. Tifsaq 915 daiae
i< fAu U fasedl O O 9ad SUgad GOk &1 99 PIIT:

1. AT A AR B
2. HaAB. D ARE
3. %AdB. C.D 3R E
4. HaAB ARD

Options :

686340163493. 1

686340163494. 2

686340163495. 3
686340163496. 4

Question Number : 75 Question Id : 68634041397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During pasteurization of standardized and cold milk (5°C) following steps are involved.

A. Bottling

B. Homogenization (2500 psi)

C. Storage (5°C or below)

D. Pasteurization (72° C / 15 sec)

Choose the correct answer from the options given below:

1.D.B,C.A

| )

.D,B,A,C
3ACBD
4.5 C, LA

Options :

686340163497. 1

686340163498. 2
686340163499. 3



686340163500. 4

Question Number : 75 Question Id : 68634041397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ISP AR 3 (5°C)TY P URGRIGRU & R HHfad =07 MHd gid 6|

A. GIEHIH]
B. BIHISHISSIRA (2500 psi)
C. HSRU (5°C 1 7<)
D. URRIBRUI (72° C / 15 HPUS)
1= fldu Tt fasm el © O U6l Iugdd STk &1 90 I

1.D,B.C.A

2=

BB AT
3.ACB, D
4.B.C.D. A

Options :

686340163497. 1
686340163498. 2
686340163499. 3
686340163500. 4

Question Number : 76 Question Id : 68634041398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HACCP system involves.

A. Identification of the hazards

B. Identification of the critical control points
C. Establish a monitoring system for each cep
D. No establishment for corrective measures
E. Record keeping

Choose the correct answer from the options given below:
1. A. B and C only
2.B. C and D only
3.A.D.CandE only

4. A B. Cand E only

Options :
686340163501. 1



686340163502. 2
686340163503. 3
686340163504. 4

Question Number : 76 Question Id : 68634041398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HACCP o H gfffed g -

A. Tl o ggdEHl

B. fobfesndl aa® fag il o1 =g+

C. P CCP BT HMIET B+ & g &f o

D. Yol faed 11 ¥+ a1d A<l &1 FuiRur 98] @A
E. R&1s @

i fAU U fas el © O 9ad SUgad GOl &1 99 PIIU:

1. PAAA. BAYUIC

2. $dd B, C AU D
3. $Pdd A, D. CAYUTE

4. PAdd A, B.CTUIE

Options :

686340163501. 1
686340163502. 2
686340163503. 3
686340163504. 4

Question Number : 77 Question Id : 68634041399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following methods is / are used for the determination of viscosity?
A. Oswald pipette
B. Mac Mecheal Viscometer
C. Fall ball Viscometer
D. The Borden body flowmeter
Choose the correct answer from the options given below:
1. B and C only
2. Aand D only
3. A.Band C only

4. A.B. Cand D only



Options :

686340163505. 1
686340163506. 2
686340163507. 3
686340163508. 4

Question Number : 77 Question Id : 68634041399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oIty g o g fashai o1 wagn feear wmar g2

A, 3rres fUde

B. i fidd fampifiex
C. BId-ard faadiifex
D. dREF dls| FliHe

1= fdu Tt fasedl § O Yl Iugdd Gk &1 90 BT
1. had B AU C

2. PATATYUID
3. HdA A, BAYUIC

4. PAAA.B.CTAYUID

Options :

686340163505. 1
686340163506. 2
686340163507. 3
686340163508. 4

Question Number : 78 Question Id : 68634041400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is / are the methods of making Ghee?

A. Desi method

B. Pre-stratification method
C. Making ghee from cream
D. Ghee making from butter

Choose the correct answer from the options given below:
1. A.B. Cand D only
2. A.Band D only
3.B. Cand D only

4. A. B and C only

Options :

686340163509. 1
686340163510. 2
686340163511. 3
686340163512. 4

Question Number : 78 Question Id : 68634041400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol g9 & fehanal &1 901 $92

A. &l fafer

B. W% difthaher fafy
c. ferm 9 ° g9

D. §eX U °l g9

1= fdu T fasedl § O Yl Sugdd STk &1 90 SHIfT:

1. A A. B. C AU D

2. PAdd A, BAYUID
3. $dd B. C dUI D

4. BAAA, BAUTC

Options :

686340163509. 1
686340163510. 2
686340163511. 3
686340163512. 4

Question Number : 79 Question Id : 68634041401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: HACCP is a systematic approach to identify and control hazards which can be biological
chemical or physical hazards

Statement IT: ISI was formerly known as BIS

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

B}

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement I1 is true

Options :

686340163513. 1
686340163514. 2
686340163515. 3
686340163516. 4

Question Number : 79 Question Id : 68634041401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl oY= U U &

YT [: HACCP U HHAS diid] o | forgd el &1 ggaH-1 aul fHa=ul &1 9iied g ol widd.
TS a1 Hifa® 8l 9ad e

FY I1: IS1 B Ggdl BIS P -TTH I ST STl U

IRIad FYF & AP 1, A S0 T [dhedl § U ol IR &1 99 DITIU:
1. PYT 1 AR 11 ST I &
2. BYA 1 IR 11 ST SR §

3. PYT IS, AfpT PUT I 3T §

4 PYT I HI . AP PYT I I &

Options :

686340163513. 1
686340163514. 2
686340163515. 3
686340163516. 4



Question Number : 80 Question Id : 68634041402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Greater the imtake of green feed. deeper yellow is the colour of cow milk
Statement IT: Smaller the fat globules lower the fat content. greater 1s the intensity of yellow colour of milk
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false
4. Statement I 1s false but Statement II 1s true
Options :
686340163517. 1
686340163518. 2

686340163519. 3
686340163520. 4

Question Number : 80 Question Id : 68634041402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FICRIEICUR IS
FYT I M0 P UloH B 5 HioH i g 0 gy I Uiara- i gnm|
FY I1: 991 WIeeR $H 5 U 391 JFE1 BH dYT g4 H ey iU gim|
SR HY P el J, H1d U M fapeal & I Hel SR &1 9497 SO
1. PYA 1 AR 11 ST I &
YA 1 AR 11 T A §

FYT I Id ¢ AT YT I ET ©

3=

L%

PUT A S, AP PUT N TS

=

Options :

686340163517. 1
686340163518. 2
686340163519. 3
686340163520. 4



Question Number : 81 Question Id : 68634041403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Colour of milk is due to colloidal casein particles and dispersed fat globules
Statement IT: Colour of milk is due to presence of carotenes
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

686340163521. 1
686340163522. 2
686340163523. 3
686340163524. 4

Question Number : 81 Question Id : 68634041403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FICRIEACURIIS
BYT I: TU BT HATST P PO quT fFaid o Taedd & PR A |
SY I1: 38 1 T BRllcH DI JUMEdl & PRUI Il
SWRIdd BYF & 3fTeld H, i AU 70 faedl 7 9 98l 3R o1 99 DIT:
1. YT IR IS Ta &
YA 1 IR I ST ST §

PYT I Id 2. AT YT I A ©

3=

L%

PUT A S, AP PUT N TS

=

Options :

686340163521. 1
686340163522. 2
686340163523. 3
686340163524. 4



Question Number : 82 Question Id : 68634041404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: In AP (Aseptic Packaging) Packaging film can be sterilized using chemicals like H,0,
Statement II: The packaging materials in AP cannot be recycled for reuse
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4. Statement I is false but Statement I1 is true

Options :

686340163525. 1
686340163526. 2
686340163527. 3
686340163528. 4

Question Number : 82 Question Id : 68634041404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l dYF [T §, Ud Siiieys & &9 1 [dRed 8 ol guRl 39 R & =4 4,

STUTYT: AP (HTHRG Yol ) Ueboliv] (e &1 IFEA1 ol H,0, & HaT 9 Sfaxiehd (a1 o Fadl
gl

BIRUT: AP & Udraiin vered Gsfam & ford Ramaea =8t favar o w@ar g
SWRIdd BYF & 3fTelld H, i 3¢ 70 fgbedl § 3 Fel 3R &1 99 SIfT:
1. AR REF 93, IR R. A P Hel AR ¢
2. ASRREH A S, SRR A S Jel AR 61 o

3. AT e, AfFTR 3T

4. ATIE. APIRTAE

Options :

686340163525. 1
686340163526. 2
686340163527. 3
686340163528. 4



Question Number : 83 Question Id : 68634041405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [: The milk fat constitutes about 99.5% of ghee and rest 0.5% of unsaponifiable mater

Statement I[I: The unsaponifiable matter in milk fat contains complex mixture of substances like sterols.
vitamins ete

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I 1s false but Statement II is true
Options :
686340163529. 1
686340163530. 2

686340163531. 3
686340163532. 4

Question Number : 83 Question Id : 68634041405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CUCRIEACURIIS
HYF I: Ht T T 00.5% g8 BT GU1 qUT VY SRIUHT ot vard gidr g
SYFIL: 5 I a9 & OGO gerd 1 wie, fderdF sanfs & sifed iy gl 3|
SWRIdd BYF & 3fTeld H, 7 AU 70 faeedi 7 9 T8l 3R o1 99 DIT:
1. YT IR IS Ta &
2. TY 1 AR 11 ST ST &

3. PUTI I 8, AT PUT 11 3T B

4. PYT I3 . AP Py I ad e

Options :

686340163529. 1
686340163530. 2
686340163531. 3
686340163532. 4



Question Number : 84 Question Id : 68634041406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I : The specific gravity of fat is in the rang of 0.936 to 0.946 at 15° C
Statement II: Concentration of fat in the milk of important livestock species is from 3.5 to 8.5 percent
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false
4. Statement I 1s false but Statement II 1s true

Options :

686340163533. 1
686340163534. 2
686340163535. 3
686340163536. 4

Question Number : 84 Question Id : 68634041406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FICRIEICUR IS
HY I: TH DI [dRIY 99 15°C W 0.936 H 0.946 & AL BIAT 5 |
®Y I1: To@yUl SRl wollaal o ge & a3 &1 0T 3.5 9 8.5% & A Gl g
SR HY P el J, H1d U M fapeal & I Hel SR &1 9497 SO
1. YT IR IS Ta &
Y1 IR I ST SR §

FYT I Id ¢ AT YT I ET ©

3=

L%

PUT A S, AP PUT N TS

=

Options :

686340163533. 1
686340163534. 2
686340163535. 3
686340163536. 4



Question Number : 85 Question Id : 68634041407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: In milk fat is dispersed in the continuous phase of serum
Statement IT: In butter serum is dispersed in continuous phase of fat
In the light of the above statements. choose the correct answer from the options Given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement I 1s false
4. Statement I 1s false but Statement II 1s true
Options :
686340163537. 1
686340163538. 2

686340163539. 3
686340163540. 4

Question Number : 85 Question Id : 68634041407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CICRICRCIR I
HYT I: U H a1, TRA F1 Tdd a1 § e Bl o

®YA I1: 923 H R, 991 &1 9ad sfaw1 § G wal gl

SR HY P el J, H1d U M fapeal & I Hel SR &1 9497 SO
1. PYA 1 AR 11 ST T &

YA 1 AR 11 HT A §

PYT I Id 2. AT YT I A ©

3=

L%

PUT A S, AP PUT N TS

=

Options :

686340163537. 1
686340163538. 2
686340163539. 3
686340163540. 4



Question Number : 86 Question Id : 68634041408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following test /s 1s / are included m platform test?

A. Organoleptic test

B. Clot on boiling test (COB)
C. Alcohol test

D. Sediment test

E. Resazorin test

Choose the most appropriate answer from the options given below:

1.B. C. D only
2.A.B.Conly
3.A,B,C,D,E only
4. E only

Options :

686340163541. 1

686340163542. 2

686340163543. 3
686340163544. 4

Question Number : 86 Question Id : 68634041408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9§ Y o 918 gden wewd gater § giEfed 87
A. PGS TRIem

B. 3d0- U3 Ygd] URI&0T (COB)
C. Uchigd URI&0
D. df&He qiemn

E. JHIGRA Tdiaqm
i fAU U fas el © O 9ad SUgad GOl &1 99 PIIU:
1.%dd B, C. D
2. %A’ A, B.C
3. %dd A, B.C.D.E

4. BAAE

Options :
686340163541. 1
686340163542. 2




686340163543. 3
686340163544. 4

Question Number : 87 Question Id : 68634041409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is / are used as stabilizer m ice cream?

A, Gelatin

B. Guargum

C. Beet sugar

D. Carboxyl methyl celluose
E. Sodium alginate

Choose the correct answer from the options given below:

1. A.B. C only
2. A.B.D and E only
3.A.B.C.D and E only
4.D.E only

Options :

686340163545. 1

686340163546. 2

686340163547. 3
686340163548. 4

Question Number : 87 Question Id : 68634041409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, # Y O o fARe & 9 8 ygi 31dre 2

A. foraifes

bl

C. e

D. Srale HUad Jegad
E. TifsTH ufese
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1.$hdd A, B, C

2. AT A, B.DIYUTE
3. $dd A, B.C.DTYUTE

4. $ddAD.E



Options :

686340163545. 1
686340163546. 2
686340163547. 3
686340163548. 4

Question Number : 88 Question Id : 68634041410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Selection of metal for dairy equipment depends upon.

A. Non-toxic nature of metal

B. Corrosion resistant metal

C. High in cost

D. Durable

E. Easy to clean and keep bright

Choose the correct answer from the options given below:

1. A and B only

| S

.A.B.D only
3.A.B.Conly
4. A.B.D and E only

Options :

686340163549. 1
686340163550. 2
686340163551. 3
686340163552. 4

Question Number : 88 Question Id : 68634041410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR 4A1 & o urg 1 =g R R 2 -
A. HfquTad gfti &1 U1g
B. 5T AT o1
C. Bia I st

D. @d YHY 9@ 9d- aral
E. W5 BT S qU1 IHEBd] g3l

i fAU U fas el © O 9ad SUgad GOl &1 99 PIIU:
1. $dd ATYUTB
2. A A, B.D
3. HAA A, B. C

4. BAAA.B.DAYIE

Options :

686340163549. 1
686340163550. 2
686340163551. 3
686340163552. 4

Question Number : 89 Question Id : 68634041411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements regarding vitamins is / are correct?

A. Vitamins act as antioxidants

B. Vitamins carry out oxygen transport in body
C. Vitamin A keeps the epithelial tissue healthy
D. Vitamin E 1s a fat soluble vitamin

E. Vitamin K is fat soluble vitamin

Choose the correct answer from the options given below:

1.A,B.C.D.E only

| B

.A. B and D only
3.A.B.C.D only
4. A.B.C.E only

Options :

686340163553. 1
686340163554. 2
686340163555. 3
686340163556. 4



Question Number : 89 Question Id : 68634041411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{59 H T fgerdi= & o0 § Tel oY=/ 9 99 B -

A fgerftm amedien & Su 8 o a3 B

B. fger= TR § anaefioH a5 &1 ol ad B
c. fgerF A Susdl Sad &l W WEdi Bl

D. fgeri E o ya-sfia e 21

E. foerfi= k oo yasiia fGerf= 21

i< fAU U fos el © ¥ 9ad SUgad GOl &1 99 HIfuU:

LA B.C.DdYIE

2. Hdd A, BAYUID
3. a0 A, B.CTYUID

4. BATA.B. CAUTE

Options :

686340163553. 1
686340163554. 2
686340163555. 3
686340163556. 4

Question Number : 90 Question Id : 68634041412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour of buffalo milk is richer than that of cow milk due to.

A. Lower number of fat particles

B. Larger number of fat particles

C. Lower number of lactose particles
D. More number of lactose particles

Choose the correct answer from the options given below:

1. Aand D only

-J

A, B. Conly
3.B only
4. A.B. C only
Options :
686340163557. 1

686340163558. 2
686340163559. 3



686340163560. 4

Question Number : 90 Question Id : 68634041412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U & g8 BT WM & g4 &1 ga-1 & T gl g |

A. G S HH 5IH & HRUI
B. T U &t T WS 55 & RO

C. Wae Iy U HH =T & HRU|
D. 3 TFerg HUN & BRI

1= fldu Tt fasm el © O U6l Iugdd STk &1 90 I
1. P ATUID
2. %A A, B.C
3. Hdd B
4. PAA A, B.C

Options :

686340163557 1
686340163558. 2
686340163559. 3
686340163560. 4

Question Number : 91 Question Id : 68634041413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
By product from cow milk protein%a
A Bkim milk I 4
B. |Ghee residue II. 3.4
C. [Butter milk IT1. |3.6
D. [Lassi IV 248

Choose the correct answer from the options given below:
1. A-IIIL, B-IV. C-I. D-II
2. A-IIT, B-TV. C-II. D-I
3. A-IV, B-1I1, C-II. D-1
4. A-I. B-IV, C-I1. D-ITT

Options :



686340163561. 1
686340163562. 2
686340163563. 3
686340163564. 4

Question Number : 91 Question Id : 68634041413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 161 1 11 9 [0aH S

T T
MO HUFITIATY W %

A RFpHEgH i

B. [t 3fazy 34

C. [geX Hep m e

D. [e=dt vV |24 8
fFafRad fdeedi § 9 98l 3R &1 99+ Sl -

1. A-IIL. B-IV, C-L. D-II
2. A-IIT, B-TIV. C-11. D-1
3. A-IV. B-III. C-II. D-1
4. A-I. B-IV. C-II. D-III

Options :

686340163561. 1
686340163562. 2
686340163563. 3
686340163564. 4

Question Number : 92 Question Id : 68634041414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements regarding viscosity of milk are correct?

AL It is the resistance offered by a liquid to flow. agitation or shear
B. The unit of viscosity is poise

C. Viscometer is used to measure viscosity

D. Viscosity deceases with development of acid and fat contents

Choose the correct answer from the options given below:
1.A.B.C.D only
2. B and C only
3.A.B.Conly

4. A.B.C.D only

Options :

686340163565. 1
686340163566. 2
686340163567. 3
686340163568. 4

Question Number : 92 Question Id : 68634041414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 1 RGHdT & hH H el DYUHT BT T DX -

A, Tl Rd gRI1 g8, fedH 3yl farig= &1 "iarie §d
B. 4101 &1 AT g-e US4 ¢

C. TopTHiex &1 vgiv WWHar AT A el

D. 375 9UT 981 YA g6+ ¥ WHdT gedi 8

1= fdu T fasedl § O Yl Sugdd STk &1 90 SHIfT:
1.Hdd A, B.C.D
2. DA B AU C
3. %A A.B. C
4. AU A, B.C.D

Options :

686340163565. 1
686340163566. 2
686340163567. 3
686340163568. 4

Question Number : 93 Question Id : 68634041415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following factor /s influences/s the homogenization efficiency of milk?

A. Homogenization pressure

B. Fat content in milk

C. Temperature of milk

D. Homogenization values

E. Single or two stage homogenization

Choose the correct answer from the options given below:

1.B and C only

| ]

.A . B.C.Dand E only
3.A.B.C.D only
4. A.D and E only

Options :

686340163569. 1
686340163570. 2
686340163571. 3
686340163572. 4

Question Number : 93 Question Id : 68634041415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 5 Y o 91 92 Y B SOOI UHIREH guifad sar
A, BHGHESRA g9

B. G4 &1 G HEAT
C. G4 1 9=
D. BHSHIZuR deg,

E. Tdhdl 31d] fg w_ig gHAleHgeie
i fAU U fas el © O 9ad SUgad GOl &1 99 PIIU:
1. had B AU C

2.AB.C.DJUE

3. PdAA.B.CTYUID

4. PAT A, DAUTE

Options :

686340163569. 1
686340163570. 2
686340163571. 3
686340163572. 4



Question Number : 94 Question Id : 68634041416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Detects LIST II Causal organisms

A |Abnormal colour| . |Bacterium cloacae

B. [Sliminess 1. Micrococcus pititutoparis]
C. [Bitterness IIL. |E. coli

D. |Bad smell IV Bacterium ervthrogenes

Choose the correct answer from the options given below:

1. A-I. B-IV. C-III. D-IT

| )

CA-IV, B-1, C-II D-III
3. A-IV. B-1, C-T1I. D-II
4. A-IIL B-II. C-IV. D-I

Options :

686340163573. 1
686340163574. 2
686340163575. 3
686340163576. 4

Question Number : 94 Question Id : 68634041416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 1 = 11 ¥ faH Sifey

T 1 T 11

FL HIH oG
e | 1 |decias Fainet
egeud | 1L [gEsieley Megeny
GEEIRE 11 |Z @rers
CIERIE] V. |gacieas wdiTa

Fafaiad [doedi € O gl 3R &1 994 Dol -

1. A-I. B-IV, C-I1I. D-IT

o|o|w|x

2. A-IV. B-1. C-I1, D-III
3. A-IV. B-1. C-T11. D-I1
4, A-III, B-1II. C-IV, D-I

Options :



686340163573. 1
686340163574. 2
686340163575. 3
686340163576. 4

Question Number : 95 Question Id : 68634041417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I vitamin | LIST II Examples
A [Vitamin B, I. Pyridoxine
B. [Vitamin Bg II. [Riboflavin

C. |Vitamin Bs III. |[Thiamine
D.

Vitamin B IV. |Pantothenic acid

Choose the correct answer from the options given below:

1. A-IIL. B-I1, C-1. D-IV
2. A-I. B-IV. C-I11. D-11
3. A-L. B-II1. C-IV, D-II
4, A-III, B-II, C-IV. D-II

Options :

686340163577. 1

686340163578. 2

686340163579. 3
686340163580. 4

Question Number : 95 Question Id : 68634041417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

g1 g1
[acTHA B, 1 [OrERiEEEE

A
B. [[@eHAB, | I REamciET
&
D.

[AeHFBs | L [y
[GemH B, |1V [Gerdie g

fafaiad faeedi § 9 gl IR &1 994 Sifor

1. A-TII. B-I1, C-1. D-IV

| B

AL B-IV, C-IIL. D-II
3. A-L. B-II1, C-IV. D-II
4. A-IIL. B-11, C-IV. D-IT

Options :

686340163577. 1
686340163578. 2
686340163579. 3
686340163580. 4

Question Number : 96 Question Id : 68634041418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Tvpe LIST IT Example
A PMicrococet L. |Pseuodomonas
B [Streptococet 1L Staphyviococcus
C. |Gram —ve Asporogenour rods] II1. |Enrerococcus
D |Gram -ve rods IV |Microbacterium

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV

[ )

. A-TIL B-IIL C-IV. D-I
3. A-IL B-II1, C-IV. D-I
4. A-L B-IV, C-I1. D-III

Options :

686340163581. 1
686340163582. 2
686340163583. 3
686340163584. 4



Question Number : 96 Question Id : 68634041418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1P g= 1 ¥ fHaE $ifem
T T
TR I
A FEPDIDE L SIS
B. [RUcidians 1l |EUeidisg
C. [orH 9PRIES T 38| 111 |Tevimray
D A IeRIE® I8 | IV |gE@Eieiay

frafafad faeedl & T 98 ST &1 98- P :

1. A-II. B-1. C-III. D-IV
2. AL B-11. C-IV. D-I
3. A-IL B-III. C-IV. D-I
4. A-I. B-IV. C-I1. D-III

Options :

686340163581. 1

686340163582. 2

686340163583. 3
686340163584. 4

Question Number : 97 Question Id : 68634041419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Composition of Lassi] Approximate %o
A [Fat I J10-15%
B. [Protein I J1.5-3.8%
C. [Lactose T |3.0-3 6%
D. |Sugar IV |2.0-3.0%

Choose the correct answer from the options given below:
1. A-L. B-II. C-II1. D-IV
2. AJIL B-11. C-IV. D-IV
3. A-IL B-III. C-IV. D-I
4. A-I1. B-1. C-IV. D-III

Options :



686340163585. 1
686340163586. 2
686340163587. 3
686340163588. 4

Question Number : 97 Question Id : 68634041419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 161 1 11 9 [0aH S
T T 1

AT BT HY=T TATHIT %

A [gg 1 [10-15%
B. e 1 |1.5-3 8%
C. [daeig 1L [3.0-3.6%
D. [FrdT V. [2.0-3.0%
fFrafeiad faeedi ©§ ¥ 9t 3R &1 90 Bl -

1. A-I, B-II. C-III, D-IV
2. A-IIT, B-1I1. C-IV, D-IV
3. A-IL B-III. C-IV. D-I
4. A-II. B-I1. C-IV. D-III

Options :

686340163585. 1
686340163586. 2
686340163587. 3
686340163588. 4

Question Number : 98 Question Id : 68634041420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Constituents of butter FSSAT 2011 standards Table butter
A PMilk fat I. |1.5% max
B. Moisture II. [16.0% max
C. |Commeon salt II1. |3.0% max
D. Milk solids not fat / curd IV, |80.0% min

Choose the correct answer from the options given below:

1. A-IV, B-II. C-III. D-I

[ ]

CA-IV, B-TIIL. C-I1. D-I

L]

AL B-IV, C-1 D-II
4. A-1. B-I11. C-IV. D-II

Options :

686340163589. 1
686340163590. 2
686340163591. 3
686340163592. 4

Question Number : 98 Question Id : 68634041420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 1 9 e Siforn

I &
FSSAI2011 F HTAR A S UCH  cadaacy

A [gyadn L |1 5% 3ifeddq
B. [+t 11. |16.0% 3f¥@Hay]
C. [9ME Tq® I11. [3.0% 3Hfefdaq
D[54 319 9 @1 a4/ Gal IV [80.0% ffé@mar
fFafRad fdeedi § 9 98l 3R &1 99+ Sl -

1. A-IV, B-II. C-I11. D-1
2. ATV, B-I11. C-II. D-1
3. A-IL B-IV. C-1. D-II
4. A-I. B-I11. C-IV. D-II
Options :
686340163589. 1

686340163590. 2
686340163591. 3



686340163592. 4

Question Number : 99 Question Id : 68634041421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Defects in pedo and burfi Cause of detects
A |Sour I. |Due to lipolysis of milk fat
B |Rancid II. |Product stored at high relative humidity
C. PMoist surface I1I. |Use of khoa having increased acidity
D |Gritty texture IV |Due to presence of large crvstals of sugar

Choose the correct answer from the options given below:

1. A-III, B-1, C-IIL, D-IV

[ )

. A-IL B-1I1. C-IV, D-1I
3. A-IL B-1. C-IIT, D-IV
4, A-IL. B-IV, C-I, D-III

Options :

686340163593. 1
686340163594. 2
686340163595. 3
686340163596. 4

Question Number : 99 Question Id : 68634041421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 g 11 U faH Sifey

I 11
ﬂaauﬁnﬁﬂa’m aﬁﬁw
A et 1 [gu a9 @ adrged
B. Rfus 1L [3a1e I=d Tval Hisdl IR Y&
C Faaae 111. [3=3 3r5a &1 ATl Wi i gt
D. [fiifé 2o IV. [2163 | 98 oheed @1 JulRyd gl
fafilad faeedi § O 981 3R &1 994 Sifoi ;

1. A-TII. B-1. C-IIL, D-IV

2. A-IL B-II. C-IV. D-II

3. A-IL. B-1. C-III. D-IV

4. A-II. B-IV. C-I, D-III



Options :

686340163593. 1
686340163594. 2
686340163595. 3
686340163596. 4

Question Number : 100 Question Id : 68634041422 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Components  |Cow milk composition %o
A |Water I B
B. [Lactose I 3.6
C. [Protein 11T |4.96
D. [Fat IV |87

Choose the correct answer from the options given below:

1. A-I. B-IV. C-I1I. D-IT

| ]

CA-IV, B-II1L C-I, D-II
3. A-IL. B-1. C-IIT, D-IV
4. A-IV. B-I1I. C-II. D-1

Options :

686340163597. 1
686340163598. 2
686340163599. 3
686340163600. 4

Question Number : 100 Question Id : 68634041422 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

T 1 T 11
e T 3 U H % UTH)
A g 1L B
B. [cderg IL 3.6
C. [aidH IIL. [4.96
D. [a&@ V. [87
fgfaRad fdeedi O 9 98l 3R &1 99 Sifol -

1. A-I. B-IV. C-III. D-II
2. ATV, B-III. C-1. D-IT
3. AL B-1. C-IIL. D-IV
4, A-IV. B-III. C-II. D-I
Options :
686340163597. 1
686340163598. 2

686340163599. 3
686340163600. 4



